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Function #{b= (X) As Double
e = XxX+1) /2 ' ZO&BHICEEXEELS
End Function
Function ##R L% (E, iter, EPS, iterMax) As Double
iter = 0: X1 = 0: E = EPS * 100
Do While E > EPS And iter < iterMax
iter = iter + 1
X2 = #e= (X1)
E = Abs(X2 - X1)
X1 = X2
Loop
BIR L% = X2
End Function
Sub R4 > 1_Click()
R = #&R L3k (E, iter, 0.0000001, 5000)
MsgBox ” #R LEI%K = “ & iter & _
“ #ER =" & Format (R, “#0.0000") & © 8% =" & E
End Sub
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HELIEI, WHROKTEZBET S0, EXLEHERZ 77 F=X*X-X-2 ' CCIBI~EEMERL
ILL7=DOMNN 4-5 T9, End Function
Function XFRSfE/Ni% (E, iter, EPS, iterMax) As Double
iter = 0: X1 = 1: X2 = 4: E = EPS * 100
Do.Whi le E > EPS1AndXiter(X? it;g;ﬁa; 2 Y = FOo
\ et iter = iter + 1: = + Y=
A EDUECCEER If Abs(Y) < EPS Then: Exit Do
Elself Y > 0 Then: X2 = X
A B C D Else: X1 =X
9 w1 W ¥ [ A=) End If
2 |1 4 =(A2+B2)/2 —CoKC2-02-2 Logp’ Abs (X2 - X1)
3 _[sIFD2>0,A2,02) =IF(D2>0,02,52) =(A3+B3)/2 =03*03-03-2 E = Abs(Y): RRSE/INE = X
4 [-IFD3>0,43,03) =IF(D3>0,03,53) =(Ad+B4)/2 =04*04-04-2 End Function
5 [SIFD4>0,A4,04) =IF(D4>0,04,B4) =(A5+B5)/2 =05*05-05-2 Sub K% > 4 Click()
6 |SIFD5>0,A5,05) =IF(D5>0,05,85) =(AG+B6)/2 =0E*C6-06-2 R = RRME/NE (E, iter, 0.000001, 500)
7 |EIFDE>0,A6 C6) =IF(D6> 0,06, B6) =(AT+BT)S2 =CTHCT-CT-2 MsgBox * #RELEILL = ” & iter & " #&R = " & _
8 |SIFD7>0.A7.G7) =IF(D7>007.67) =(A3+BE)/2 =0E*0E-08—2 End Sub Format R, “#0.0000") & “ & = " & E
5 [SIFDB>0,A8,08) =IF(DB>0,08,58) =(Ap+B)/2 =CO*CE-08-2 nd su
10 |SIF(DE>0,48,08) =IF(D9>0,09,58) =(A1 0+B1 0)/2 =01 0%C10-C10-2
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15 IR 4>0,A14014)  [SIRD14>0,014,614)  |=(A15+B15)/2 =015%C15-C15-2 .
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16 |SIFD15>0,A15015) |SIFD15>0,015,615) |=(A16+B16)/2 =01 6%C16-C16-2
17 IR 6>0,M16016)  |SIFD16>0,016,51 60 |=(A1 T+B1 772 =01 T*C17-C17-2 TROGFERRE XK INEE FAWT, Excel TEZRL, IRDOEETF
16 SR T>0M 70170 [SIRDI 72001 7,61 70 |=(A18+B18)/2 =018*C18-C16-2 o .
19 [ZIFD18>0,A18,018) |SIFD18>0C18,518) |=(A19+B19)/2 =01 54C18-C19-2 57T 7 ChERRE &,
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f(X)=x+cosx=0




